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Instruction | $2BB | 3588

. DO NOT FLIP OPEN THIS FRONT COVER UNTIL YOUR PROCTOR TELLS YOU.
FEARMCE BE ZRIHE/RHT . 7 A 2RI B UL o

FEARN S W% B G/ HT 5 A ZERIF B

. This is a 24 question multiple choice test. For each question, only one answer choice is correct.
iR EFAERIEER I, EE E A IERE R

R B AIE AR R R I, REE H A A RS SR,

. Each question is given a point value. You will receive full points for correct answer, and zero point for blank
or incorrect answer. The full score of this test is 96 points.

FEEE AR ERME, EERNS . FHEE AR ARBEH#D 79657«
FHEMHHAG M, B, B AR AWM 49657 o

. Only scratch paper, graph paper, rulers, protractors, and erasers are allowed as aids. Calculators are NOT
allowed. No problems on the test reguire the use of a calculator.

FUREAE I BRRAR R AR. R BAGAE SR TR st st e e
AATA A 5 2l o

HAEMEARARAL. gt R BAGAIRE/E N T . a8 A Rirt ey . Wil
AT AT TR REDA 3 5 208 FH 5 o

. Figures are not necessarily drawn to scale.

A — L LA

BT A5 Tl 22 ] o

. You will have 75 minutes to complete the test once your proctor tells you to begin.
BB R EATBIAGTR . VR A7S5 73 G A TR ] 52 S Rl
BB RINEA TG . KA 7575 PR i 18] 52 S it
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| Part 1: 8 problems, 3 points each

(w4 8EEE, W35 | H—%5: SiEHEE, S35

1. A mushroom grows every day. Mary takes a picture of the mushroom each day from

Monday to Friday as shown below. Which of these pictures was taken on Tuesday?

-

B AR A K. HEM—3 2 A, Mary A RARGLEIEIR, B o To M RB A
PR —ik & Z B =489

¥

BERHERAAE K, NEH—F 2 A, Mary KL EHEIRB, B 4o To FX L)
Bk — K 2 2 M = 4h 492

(A) (B) )\m © m (D) i!g: :: (E) )m

2. Which piece completes the pattern?

TR — 3T VA4 B B AL

AR — 3 5T VA 5 AT ALAE
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2020 Hong Kong Mathematics Kangaroo Contest - Ecolier - (Grade 3 & 4)
3. Tysger shades all the squares in the grid where the result is 20. Which shape does he get?

Tysger ##A45 & b FTA 3+ H4d B2 20 694 R R &, BHIFH) 69 B 24?2
Tysger ¥ M A% & b prA it A28 22 20 6946 R R &, FIHIF 5 6B 2 L2

16+4]119+1]28—-8

2x10116—-4| 7x3

4. Which of the following figures has the largest part shaded?

VAT ARE B G &k &R 09 Em AR R K ?
VATURANE T P oG 4k &3 - 09\ AR g K?

A) E (B) E (@) ﬁ (D) i (E)

5. You can make different figures by using the below pieces. Which one of the figures below
can you make with these pieces?

ART AR 35 2B g PP R B 6 B o T ARE B Y T AR 15 2R T PR
R AR BT PR AR G AT o T @RS B 7T AR X5 7 B2

=
BAK

©

ol év%s

2020 HHBERERARE DR T FHR 2020 FHKFEBRRAEE I FPER
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6. Elli draws the big square with chalk on the pavement. She starts jumping from number 1.
Each time she jumps, she always jumps to a number that is 3 more than the number she

is standing on. What is the largest number Elli can jump onto?

Elli A EAAATELET A RXEFTH. WEER 1 GBI FRUIGIFIE, M
Y0 B — Ak e % 3 e93., M Elli Ab kB 69 AZ % )0

Elli A EAAITE LS T —AKREFTH. MMARA 1 G353k, FRM B ITIE, J
B A BE| — AN rhasE 0 4 % 3 694, ) Bl k3| 9 R K BE % U?

11518 |11
4| 7110|114
24123113118
2111911620

A) 11 (B) 14 (© 18 (D) 19 (E) 24

7. Jorge glues 6 stickers to the faces of a cube as shown. The pictures shows the cube in two

positions. Which sticker is on the opposite face to the duck?

Jorge H# T 8912 6 TR Ab kA2 — B L H AR MY BB @, LA REA MBI Ede B T, BT
T BT A2 v 69 3 Bk A RE AR 2

Jorge # T & 693X 6 KM SKFELE — N L HIRIG EANE . ZHIKRGHAMLE o B 7. FH
F P A2y 6 5 & s AR AN AR P

SRitar B |

(A) (B) % (©) (D) (E) %
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D@%@%M%

Casper has the following 7 pieces. He uses some of these pieces to fully cover this grid
below without overlap. He uses as many different pieces as possible. How many pieces

does Casper use?

Casper AT 7 ik A AL TGN REEET THREMEMAEE, LHAA TR,
HZTH % Hedx A ak )i, M Casper Al 7 & 5k4k k2

Casper FUAT 7 KRk ho. AETKREA. ZEEET TREIANAMAELR, FHLEAE &,
R R T HE % ot ) 48 7, 9] Casper i 7 JUIK4E A ?

(A) 3 (B) 4 Q5 (D) 6 (E) 7

‘ Part 2: 8 problems, 4 points each
(%5 SEEA, W44 | HHH: SEEE, W4

9. Cindy colours each region on the pattern either red, blue or yellow. She colours regions
that touch each other with different colours. She colours the outer ring (region) of the

pattern red. How many regions does Cindy colour red?

Cindy #B & LM HEERE LAE,. BEXRE. REZMAEBOIERRERRGAE
Yele B£8R B AL E. M Cindy —#4 3 VERKRE T4 &2

Cindy £#HE LM HARRALALE, BERFE. A TAMAEMNG XA RE M E,
Wele | 6 B R ALE. P Cindy —#£4 3 PARRART 2 &2

(A) 1 (B) 2 © 3 (D) 4 (E) 5
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10. Loes looks at the pyramid from above. What does Loes see?
Loes #¢ k& A ic 184 5%, M Loes A2 T /&2

Loes I\ L& XA &5 %, 7] Loes A2 T4 4?

(A) (B) ©) (D) (E) /A

11. Dennis ties a dog 1 metre from a corner of a 7 metres by 5 metres hut as shown in the
picture using an 11 metres long leash. Dennis places 5 treats as shown. How many of the

treats could the dog reach?

4o B P77, Dennis #f —ff& 11 K988 T48E— R 7 KRS RN AW A KR 1 Ko7 B
R, —ER. AwBTHET SMERL. MEEARAHETIRERL?

4o | B, Dennis $—#K 11 ReG&FIAE—A 7 KKS5 KPR AELT ReGHTT B
R, B—RH. BB FHRET S5 AL, FEXRMES SR IJUATL?

A) 1 (B) 2 Q3 (D) 4 (E) 5

2020 HAEREREARE—DE T FHL 5 2020 A HBFERAER—DFFHFAR



2020 Hong Kong Mathematics Kangaroo Contest - Ecolier - (Grade 3 & 4)

12. Lonneke builds a fence using 1 metre long poles. The picture below shows a 4 metres long

fence. How many poles does Lonneke need to build a 10 metres long fence?

Lonneke /i 1 & & 4947 7 #£i% 7 — @M. T @14 /&= T —18 4 K& 6948 . Lonneke
it —18 10 R &AM E 2 5 VIRAT T2

Lonneke f] 1 R K#AFF 4 T — M. T@XR S &~ T —4 4 K KA. Lonneke
#E—N10 KRG EZ S VARAT T2

J J J J J

4 metres

)

(A) 22 (B) 30 (O 33 (D) 40 (E) 42

13. Every time the kangaroo goes up 7 steps, the rabbit goes down 3 steps. On which step do
they meet?

HBRBROLEAT Y, AFEOTA3 V. MEMAAEIR—BS G ?

HFRERMLEAT Y, RFEOTA3 . FIAMNENR—RE HARE?

(A) 53 (B) 60 (C) 63 (D) 70 (E) 73

2020 A BERAMRE—DE T FR 6 2020 A HBFERAER—DFFHFAR
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14. The sum of three numbers is 50. Karin subtracts a secret number from each of these three
numbers. She gets 24, 13 and 7 as the results. Which one of the following is one of the

original three numbers?

=B B9 Fo 2 50, Karin £33 = A8 3069 A8 0 B ik — B AL 58 $eo AT 2] 6945 R 2 24,
13 Fa 70 VAT AME ST FoA b9 =B # = —?

= AN Fa 2 50, Karin X = ANBEAG FANROP i mE — MBS R W AT B 69 45 R2 24,
13 Fa 70 WATIRARE TA 89 AL —?

(A) 9 (B) 11 (O 13 D) 17 (E) 23

15. Amelie wants to build a crown using 10 copies of the token as shown on the left figure.
When two tokens share a side, the corresponding numbers match. Four tokens have al-

ready been placed. Which number goes in the triangle marked with an X?

Amelie 288 10 {84 £ B BT 09 4040 — 18 28 . & miBA MR AL, HEOEF
A LFEy, wWASMELHKEI. FAZRE X W AK b & o) 2IE % F?

Amelie 28] 10 Mo Z BT T 094 AR— N ER. ZHANAMA AL, s EGKF
RLEE, WASMEZMESF. FirhA X =R P 52N 5>

<
TSN
NN
Se .

> ol
L AN NS N

(A) 1 (B) 2 ©) 3 (D) 4 (E) 5
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16. Farid has two types of sticks: short ones, measuring 1 cm and long ones, measuring 3
cm. With which of the combinations below can he make a square, without breaking or

overlapping the sticks?

Farid 47 A A4t 4289 1 2ok, K& 3 K. WU T @ e @ s, /£ R78 K&
ABITRT, HR—EEFTH?

Farid # %4k A% 4269 1 R K, K893 Bk, T AR T EOMALLE, £RHFTRE &
A AT, HBR—APAEFTI?

(A) 5shortand 2long | 542 69F= 2 K89 | 5 AR F 2 N K

(B) 3shortand3long | 31846 A= 3 K4 | 3 NEWF 3 ANKHE

(C) 6short | 618428 | 6 428

(D) 4shortand 2long | 4 4694 2 A F 49 | 4 A2 MKy

(E) 6long | 61 F 4 | 6 ki

‘ Part 3: 8 problems, 5 points each
(=64 8EEE, SE5H | £S5 8EHEE, SHE5 5

17. A standard dice has 7 as the sum of the dots on opposite faces. The dice is put on the first
square as shown and then rolls towards the right. When the dice gets to the last square,

what is the total number of dots on the three faces marked with the question marks?

— AR FHMHERE LRI IET BT, BRTIAEF —BEESK L, KRix
BERS. FRTINERK—MAEFTHE, RAMBEY Ao LORBNETS )2

—MRAER TR EE LY ERZI AT, BT, RIFBAESF—AEFTHLE, R
BAERF. SRTINERE-—NEFHI, FHFFTH=Ad L s HGELE D?

_ANNNND

(A) 6 (B) 7 Q9 (D) 11 (E) 12

2020 HAEREREARE—DE T FHL 8 2020 A HBFERAER—DFFHFAR
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18. 6 people each order one scoop of ice cream. They order 3 scoops of vanilla, 2 scoops of
chocolate and 1 scoop of lemon. They top the ice creams with 3 cherries, 2 wafers and 1
chocolate chip. They use one topping on each scoop, such that no two ice creams are alike.

Which of the following combinations is not possible?

6 BAFFAB T —3R . BT 33RAFE, 2835 8 Fo 1 3RAER R Mk
Mok B a9 sAA 3 AN 2B EXGALIEA LN F. RPAESRKRARIRKT —
MEA, IR MBI AR AR AT SR R AR A2

6 MNAFEAET —HIREM RANET 3HRFE, 280 F 1 ag kg, AKX
MR L@ ey s AR 3 MR 2 ANEXRBAe L AT S R . A EAFRRIB I ERAT —
AL, ATRABAKBAR—H . FIATIRFP A SRR TAREAY?

TYTVAT o

(A) chocolate with a cherry | 35 % 7 s ok BLARAL | 35 367 AR ok BLAR Ak

(B) vanilla with cherry | &3 kift sk Bodipk | A3 ki ok BoApk

(C) lemon with a wafer | A48 Kk B3 K | ApAR kigt ok Be e R4t

(D) chocolate with a wafer | 53 % A sk B3 k8 | 35 %7 Kig ok B de k4

(E) vanilla with a chocolate chip | FE kAT EA R/ | HBE KRB KBS D A

2020 HAEREREARE—DE T FHL 9 2020 A HBFERAER—DFFHFAR
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19. The Queen tries to find out the three names of Rumpelstiltskin’s wife. She asks her:
“Are you called Adele Lilly Cleo?”
“Are you called Adele Laura Cora?”
“Are you called Abbey Laura Cleo?”
Each time exactly one name and its position was right. What is the name of Rumpelstilt-
skin’s wife?
Queen X B 4% & Rumpelstiltskin 7 =18 % 5. Queen R]#:
“4&» Adele Lilly Cleo *%> ”
“4#zm Adele Laura Cora "§?”
“4%» Abbey Laura Cleo "%”
HFRAKH—BBEAFC 9L E £ EME ., B Rumpelstiltskin 49 & -Fm) 48 & 5 ?
Queen X A 4 & Rumpelstiltskin #-F 8 =/~ % F. Queen |7 #:
“4%m Adele Lilly Cleo "% > ”
“f&» Adele Laura Cora "% ?”
“4%» Abbey Laura Cleo "%”
R AK — AN fee 6942 F R EH 6, F] Rumpelstiltskin 49 & -F ™ 4 & 57
(A) Abbey Lilly Cora (B) Abbey Laura Cora (O) Adele Laura Cleo
(D) Adele Lilly Cora (E) Abbey Laura Cleo

2020 HAEREREARE—DE T FHL 10 2020 A HBFERAER—DFFHFAR
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20. The teacher writes the numbers from 1 to 8 on the board. The teacher then covers the

21.

numbers with triangles, squares and a circle. If you add the four numbers covered by the
triangles, the sum is 10. If you add the three numbers covered by the squares, the sum is

20. Which number is covered by the circle?

ZEHAEZMEZGTHRITIFSNE., RELGA=ZAY. EFZH AL EHEZ LI, wRIR
P E AN ESA I, BF2 10, 4o RIRICE 5 H EAE 0 ZAIA I, LF2 20,
R VAR AE SAR B BEAE T ?

EIFLEEHR LS T2 8894 REXFMZAN. EFHARY EAEZLHK. o RIR
e =A% E2EmEAGAEI, EA2 100 4o RIRFCIE T | AR = ANGAahm, B2 20,
AR BT T AT ?

A A

A
D‘ DA

(A) 3 (B) 4 © 5 (D) 6 (E) 7

Jane has some pictures of parrots. She wants to colour only the head, tail and wings of
each parrot either red, blue or green so that all three colours are used on each picture. She
colours one parrot’s head red, its wings green and its tail blue. How many more parrots

can she colour so that all the parrots are coloured differently?

Jane A — L BE#E 69 B o WA R HEWMIA. Rile b e. Heke, M
FigE L =AEAEHM . e —EWMAFTRILE, BFEREKE, RCEREE. &b
B S RIS L&, M PTAR M EEE G e & 0y XART R ?

Jane A — % 5490 S . MARLHR BN K, R RERELE. BEIEE,
FREEZMHREHN. R RBAHKRREE, RERREL, RLRREL. &
TS P REH L b, HPTA 0 8 3 & XA P

A) 1 (B) 2 ) 4 (D) 5 (E) 9

2020 HAEREREARE—DE T FHL 11 2020 AHHFERAER—DFFHFAR
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22. Several teams came to the summer Kangaroo camp. Each team has 5 or 6 members. There

are 43 people in total. How many teams are at this camp?

HIGAELINTRALALSE. BFHFEADOARO A —HA 43 A, MEA SV KBS A
A

JLXBME RS T R RIAE. A5 AL6 Ao —RA 43K, FAH § 0 LW Sh T
=

(A) 4 (B) 6 o 7 (D) 8 (E) 9
23. Which key would it be impossible to cut into three different figures of five shaded squares?

R AE G AL T VT e A D ) A =8 TR ) 69 oy AR PR % 7 AL AR A T K

ARFE A R TS TT R0 B R AN TSR 69 ) BANFA % 7 A 2Rk B9 5 IR P

freis

24. Ann replaces letters in the calculation KAN — ROO + GA with numbers from 1 to 9 and

then calculates the result. The same letters are replaced by the same numbers and different

letters by different numbers. What is the largest possible result she could get?

Ann # H X KAN —ROO + GA vy 5 #5415 9 ZHMOEF, REFAE R, AR
0 F AR F B FRAE, FROFHERNCRGBEFRE. MIRAFRGRRTRERA
A% P

Ann 4 X KAN — ROO + GA 8y 5454 1 5] 9 2 My 5, KEH LR, AR
CESREREE EXE MESCIES FESCEE &2 SCE T R E R Sy PR
frae

(A) 925 (B) 933 (O 939 (D) 942 (E) 948

2020 A BERAMRE—DE T FR 12 2020 A HBFERAER—DFFHFAR



